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204 1,000 | 109.04.07 [ A ¢ fcB% ~ HEpfers ~ 2 F4ees ~ 2 £ 03
®0O” 1,000 | 109.04.07 | A€ fc8% ~ HEpfers ~ 2 jF4ees ~ 2 £ 7
Z2O% 1,000 | 109.04.07 | A€ fc8% ~ HEpfers ~ 4 jF4ees ~ 2 £
# O 1,000 | 109.04.07 | A€ fc8% ~ HEpfers ~ 2 jF4ees ~ 2 £ 7
20z 1,000 | 109.04.07 | A€ fc8% ~ HEpfers ~ 2 jF4ees ~ 2 £ 7
2O 1,000 | 109.04. 07 | 4x € #7284 ~ H¥pgees ~ 3 5550~ 4 £ 40k
MmO & 1,000 | 109.04.20 | A- ¢ 4784 ~ HEpfers ~ 4 jF4ees ~ 2 £ A
20 1,000 | 109.05.04 | A€ 4784 ~ HEpfers ~ 4 jF4ees ~ 2 £ 7
®0O7 1,000 | 109.05.04 | A€ 4784 ~ Hpfers ~ 4 jFHes ~ 2 £ A
2O 1,000 | 109.05. 04 | - g feb ~ &¥raees ~ 2 &40 « £ £ 3k
# O 1,000 [ 109.05.04 | A ¢ #cB> ~ HEfcrs ~ 2 FFes ~ 2 L fidk
20z 1,000 [ 109.05.04 | A ¢ $c8s ~ HEEFcEs ~ 2 FFes ~ 2 L Rk
T O* 1,000 [ 109.05.04 | A ¢ $c8s ~ HELfcEs ~ 2 FFes ~ 2 L Rk
HOz= 1,000 [ 109.05.04 | A ¢ $c8s ~ HEfcEs ~ 2 FFes ~ 2 L ik
204 1,000 [ 109.06.03 | A€ $c8s ~ HEpfcrs ~ 2 FFes ~ 2 L ik
7O 1,000 [ 109.06.03 | A€ $c8s ~ HEpgcrs ~ 2 FFes ~ 2 L ik
2O% 1,000 [ 109.06.03 | A€ $c8s ~ HEpgcrs ~ 2 FHes ~ 2 L Rk
O 1,000 [ 109.06.03 | A€ fc8s ~ HEpgcrs ~ 2 FHes ~ 2 L Rk
U QLS 1,000 [ 109.06.03 | A€ $c8s ~ HEpgcrs ~ 2 FHes ~ 2 L Rk
FO* 1,000 | 109.06. 03 | 4+ & #7824 ~ & ¥pdees ~ 454~ 4 £ 4ok
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HO= 1,000 | 109.06.03 | AL & #ros « A EEcDs ~ 2 AR« + £ g
% 1,200 | 109.06.08 & EA4F e+ (7 454 &)
*OF 5,000 [ 109.06.19 | A ¢ Fces ~ HErfres ~ 2 FFes ~ F L 5k
MmO 600 [ 109.06.22 | A€ Fces ~ HERfces ~ 2 7530~ 2 £ ik
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